Autochequeo 100

6.2.3 Autochequeo del Grupo de Programas PGTf. Parametro: zsr

Programa PG124iTf:
Esquema:
zsr(0,1,2)
S pmm e g ---mmmmmmmm - R
m,ag I

1
- i 1 --—1--
75(0,1,2) i zr(0,1,2)

PGTf Parametro: zsr

Programa PG124iTf
Entrada por | Un=220 kV, kE=1, L=220 km, Sccs=5000 MVA, Sccr=5000 MVA
Input Kr0=1
kO = zs0/zr0 = 10
Compensacion 21= Si
Parametro zsrl = 10i-100i-1000i ; Ksr0=3
Falta Doble | Faltam m 0...1
m=p LineaSR 1 | Tipo ag
Elemento AG
Rfm 0
Rgm --
Falta p p 0...1
Linea SR Il | Tipo cg
Elemento CG
Rfp 0
Rgp -
Salida 1 21 Salida pu alcanceSmpu autoch01
Unidad Preferente AG alcanceRmpu
21 Salida pu alcanceSppu autoch02
Unidad Preferente CG alcanceRppu




Autochequeo

Salida autochOl1 del Programa PG124iTf:

11

PG124iTf,21¢c,220kV,kE=1.00,220km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00
k0=10.00,Ksr0=3.00, m:ag,AG,Rfm=0 , p: cg,CG,Rfp=0

1.05

alcanceSmpu
-
T

0.95

0.9

0 0.1 0.2 0.3 0.4 0. 0.6 0.7 0.8 0.9
m=p
Ref
1.1 _ Lim
_ zsr1=10i
zsr1=100i
2 1.05 — 75r1=1000i
g
© 0.95
0.9
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p

Autochequeo:

Extremo Sm(AG) : zsrl=10i , O0<m<1: Sin falseamiento
zsr1=100i , O<m<1: Sin falseamiento
zsr1=1000i , O<m<1: Sin falseamiento

Extremo Rm(AG) : zsrl=10i , 0<1-m<1: Sinfalseamiento
zsr1=100i , O0O<1l-m<1: Sinfalseamiento
zsr1=1000i 0<1-m<1: Sinfalseamiento
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Autochequeo 102

Salida autochO2 del Programa PG124iTf:

PG124iTf,21¢c,220kV,kE=1.00,220km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00
k0=10.00,Ksr0=3.00, m:ag,AG,Rfm=0 , p: cg,CG,Rfp=0
1.1

1.05

alcanceSppu
-
T

0.95
0.9
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
m=p
Ref
11 _— Lim
_— zsr1=10i
zsr1=100i
2 1.05 _— zsr1=1000i
g
e
® 0.95
0.9
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
m=p

Autochequeo:

Extremo Sp(CG) : zsr1=10i , O0<m<1: Sin falseamiento
zsr1=100i , O<m<l1: Sin falseamiento
zsr1=1000i , O<m<1: Sin falseamiento

Extremo Rp(CG) : zsr1=10i , 0<1-m<1: Sinfalseamiento
zsr1=100i , O0<1-m<1: Sinfalseamiento

zsr1=1000i , O0O<1-m<1: Sinfalseamiento
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Programa PG126MTf:

Esquema:
zsr(0,1,2)
S e — . R
m |
S — S i Bcg I --——--
25(0,1,2) 2r(0,1,2)

PGTf Parametro: zsr

Programa PG126MTf

Entrada por | Un=220 kV, KE=1, L=220 km, Sccs=5000 MVA, Sccr=5000 MVA
Input Kr0=1

kO = zs0/zr0 = 10

Compensacion 21= Si

Parametro zsr = 10i-100i-1000i ; Ksr0 =3

Falta m m=p 0...1

Intercircuito | LineaSR1 | Tipo Bcg

m=p Elemento --
p Rfm 0 Ohms
LineaSR Il | Rgm 0 Ohms

Salida 1 21 Salida pu alcanceSmpu  (BG) autoch01
Elegir Unidad alcanceSppu  (CG) autoch02




Autochequeo

Salida autochOl1 del Programa PG126MTT:

PG126MTf,21c,220kV,kE=1.00,220km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00 ,k0=10.00
,Ksr0=3.00,Bcg,Rf=0 ,Rg=0

1.1
1.08 —] Ref \
_— Lim \
_— zsr1=10i
] e I
_— zsr1=1000i
1.04 — \
3 1.02
0]
o
£
% 1
g
<098 \
0.96 \
0.94 \
0.92 \
0.9
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p
Autochequeo:
Extremo Sm(BG) : zsrl=10i , O0<m<1: Sin falseamiento
zsr1=100i , O<m<1: Sin falseamiento
zsr1=1000i O<m<1; Sin falseamiento
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Autochequeo

Salida autochO2 del Programa PG126MTT:

PG126MTf,21c,220kV,kE=1.00,220km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00 ,k0=10.00

,Ksr0=3.00,Bcg,Rf=0 ,Rg=0

1.1
1.08 —— Ref \
_ Lim \
1.06— — zsr1=10i
_ zsr1=100i \
_— zsr1=1000i
1.04 —
3 1.02 \
(O]
Q
g 1
® 0.98
0.96 \
0.94 \
0.92 \
0.9 \
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p
Autochequeo:
Extremo Sp(CG) : zsr1=10i , O0<m<1: Sin falseamiento
zsr1=100i , O<m<1: Sin falseamiento
zsr1=1000i O<m<1: Sin falseamiento
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Autochequeo

Programa PG128MTT:

106

Esquema:
zsr(0.1.2)
SA P T RA
m
-1 f Bcg 0 r-—3----
|| | | i
z5(0.1.2) HDI I |:||:|‘ zr(0.1.2)
4\ 4\ SB p RB | |
dngah (S
PGTf Pardmetro: zsr
Programa PG128MTf

Entrada por
Input

UANn=220 kV, UBn=66 kV, KE=1, LA=LB=66 km, Sccs=5000 MVA,

Scer=5000 MVA, Kr0=1

Sp=120 MVA, Ss=120 MVA, St=40 MVA, Up=220 kV, Us=66 kV,
Ut=33 kV, tccps=12 %, tcept=5%, tcest=2 %

k0 = zs0/zr0 =

10

Compensacién

21=Si

Parametro zsr = 10i-100i-1000i Ksr0 =3

Falta m: Linea m=p 0...1

Intercircuito | SA-RA Tipo Bcg

m=p Elemento -
p:Linea Rf 0 Ohms
SB-RB Rg 0 Ohms

Salida 1 21 Salida pu alcanceSAmpu (BG) autoch01
Elegir Unidad alcanceSBppu  (CG) autoch02




Autochequeo

Salida autochOl1 del Programa PG128MTT:

PG128MTf,21c,220kV, 66kV,kE=1.00, 66km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00 ,k0=10.00

,Ksr0=3.00,Bcg,Rf=0 ,Rg=0

1.1 | | |
1.08— Ref \
_ Lim \
1.06 — —— zsr1=10i
_ zsr1=100i \
1.04— —— zsr1=1000i
3 1.02 \
2
€
% 1
] 0.98 \
0.96
0.94 \
0.92 \
0.9 \
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p
Autochequeo:
Extremo SAmM(BG) :  zsrl=10i , 0O<m<1: Sin falseamiento
zsr1=100i , O<m<1: Sin falseamiento
zsr1=1000i O<m<1; Sin falseamiento
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Autochequeo

Salida autochO2 del Programa PG128MTT:

PG128MTf,21c,220kV, 66kV,kE=1.00, 66km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00 ,k0=10.00

,Ksr0=3.00,Bcg,Rf=0 ,Rg=0

1.1
1.08 — Ref \
_ Lim \
1.06—0A — zsr1=10i
_ zsr1=100i \
_— zsr1=1000i
1.04 —
3 1.02 \
(O]
g
2 1
3
S
20.98
0.96 \
0.94 \
0.92 \
0.9 \
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p
Autochequeo:
Extremo SBp(CG) : zsr1=10i , O0<m<1: Sin falseamiento
zsr1=100i , O<m<1: Sin falseamiento
zsr1=1000i O<m<1: Sin falseamiento
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Autochequeo

Programa PG173iTf:

Esquema:
zsr(0,1,2)
_____________ —[EP
R
- s
i m,ab
-/ - —-—--
25(0,1,2) > p,bc zr(0,1,2)
- -
; g,abc
PGTf Pardmetro: zsr
Programa PG173iTf
Entrada Un=220 kV, kE=1, L=220 km, Sccs=5000 MVA, Sccr=5000 MVA
Kr0=1
k0 = zs0/zr0 = 10
Compensacion 21= No
Parametro zsr = 10i-100i-1000i Ksr0 =3
Falta Triple | Faltam m 0...1
m=p=q LineaSR1 | Tipo ab
Elemento AB
Rfm 0
Rgm --
Falta p p 0...1
Linea SR Il | Tipo bc
Elemento BC
Rfp 0
Rgp -
Falta g q 0...1
Linea SR Il | Tipo abc
Elemento BC
Rfq 0
Rgq -
Salida 1 21 Salida pu alcanceSmpu autoch01
Unidad Preferente AB alcanceRmpu
21 Salida pu alcanceSppu autoch02
Unidad Preferente BC alcanceRppu
21 Salida pu alcanceSqpu autoch03
Unidad Preferente BC alcanceRgpu




Autochequeo

Salida autochOl1 del Programa PG173iTf:

PG173iTf,21nc,220kV,kE=1.00,220km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00 ,k0=10.0
,Ksr0=3.00,m:ab,AB,Rfm=0 , p: bc,BC,Rfp=0 , g: abc,BC,Rfg=0

=
o
a1

alcanceSmABpu
[
T

0.95

0.9
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p=q
Ref
1.1 —_— Lim
_ zsr1=10i
zsr1=100i
3 1.05 .
= _ zsr1=1000i
<
% 0.95
0.9
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p=q

Autochequeo:

Extremo Sm(AB) : zsrl=10i , O0<m<1: Sin falseamiento
zsr1=100i , O<m<1: Sin falseamiento
zsr1=1000i , O<m<1: Sin falseamiento

Extremo Rm(AB) : zsrl=10i , 0<1-m<1: Sinfalseamiento
zsr1=100i , O0O<1l-m<1: Sinfalseamiento
zsr1=1000i 0<1-m<1: Sinfalseamiento
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Autochequeo

Salida autoch02 del Programa PG173iTf:

PG173iTf,21nc,220kV,kE=1.00,220km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00 ,k0=10.0
,Ksr0=3.00,m:ab,AB,Rfm=0 , p: bc,BC,Rfp=0 , g: abc,BC,Rfgq=0

2
2 1.5
3 —
g 1t
2 —
‘% 0.5
0O 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p=q
Ref
2 _— Lim
_ zsr1=10i
5 1.5 zsr1=100i
§ / _ zsr1=1000i
] P—
% 0.5
0O 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
m=p=q

Autochequeo:

Extremo Sp(BC) : zsr1=10i , O<m<1: Sin falseamiento
zsr1=100i , O<m<1: Sin falseamiento
zsr1=1000i , O<m<1: Sin falseamiento

Extremo Rp(BC) : zsrl=10i , 0<1-m<1: Sin falseamiento
zsr1=100i , O0<1-m<1: Sinfalseamiento
zsr1=1000i 0<1-m<1: Sin falseamiento

111



Autochequeo 112

Salida autochO3 del Programa PG173iTf:

PG173iTf,21nc,220kV,kE=1.00,220km,Sccs=5000 ,Sccr=5000 ,Kr0=1.00 ,k0=10.0
,Ksr0=3.00,m:ab,AB,Rfm=0 , p: bc,BC,Rfp=0 , g: abc,BC,Rfg=0

e
=

=
o
a1

alcanceSqBCpu
[
T

0.95

0.9
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
m=p=q
Ref
1.1 _ Lim
_ zsr1=10i
zsr1=100i
2 1.05 - zsr1=1000i
2
g 1
‘_t‘)’ 0.95
0.9
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
m=p=q

Autochequeo:

Extremo Sq(BC) : zsrl=10i , O0<m<1: Sin falseamiento
zsr1=100i , O<m<1: Sin falseamiento
zsr1=1000i , O<m<1: Sin falseamiento

Extremo Rq(BC) : zsrl=10i , 0<1-m<1: Sinfalseamiento
zsr1=100i , O0O<1l-m<1: Sinfalseamiento

zsr1=1000i , O0O<1-m<1: Sinfalseamiento



